3)4)

2
2 1 HPLC
5)
60 40
B
uv
244nm
1 HPLC
1
60 40 AITC

17

0DS

AITC

uv

HPLC

AITC

HPLC

AITC DY

HPLC

YMC PackA 312 0DS  150mm

HPLC

£l AVFALTF—MAOHPL Cick 294 &H

#
B
oo Y
it

B B

BE:88LC-6A

B BHESPD-6A

I ¢ YMCPack A-312 ODS150mm
#:1. 0 (ml/min)

2 7b=tUnB60 /7K 40 (v/v)

AIALARE: 30C
MEeHE :244 om
REEAR:5 (1)
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w, N
0.3 gl
Y h
zs 8
<| & L
T [l w >
%) & Lz)g,
] 1L
2
0.0 —————
200 300
WAVELENGTH (nm)

7 0 (CHs CN 60/H20 40)
%480 (CH3CN 60/H0 40) — ‘ »
2NE: 10m ‘ ﬁﬁ:lo.Ong/l' . | i T ! !

[ 4 8 12 - 15
PETENTION TIME (min)

K1 T7YNLI/FAYTHR—b

. e el : 1.0m1/min # 5 LEIE :30°C
DUVART ML =i 0 5 sl H5h3YMC Pack “A-312 ODS (46 »150.00) i
EiM : (CHs CN 60/H20 40) BRI D UV 244nm

2 ALTC M2 A /F4L7x— MNAEESR
AITC L BN F/ 8 = b i N
AITC HPLC B
® OH:le
M ALY (10ml)
. | L .
60 100 | + (eb=tyng0/ 7K 10)
AITe . ® B:10m
AITC i)
#ed> (2minx3 ) .
d
% #8 (10 min)
-
B L A BQO©.2pm AT F/INI)
. o 2 - = . l : B . Lo
: = H
#2 o MHEE [TER= YNSRI LB HPLGC
TR FRDT YA FA T H—bdr
O E ' K3 <R¥—FNHOT YA
BHE e HEfory OLEGp ERE® VEALT = M7
0. 00 1. 48 -—= -— ' ge=y—p
2. 43 4. 07 2.59 171 e
4.87 6. 55 5. 07 104
7. 30 9. 01 7. 53 108
9.73 11. 63 10. 15 104
AITC
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90 10

AITC
1
20 C X ‘ .
40 C %3 224 —NhDOTYNAVFA T r—bORRE
Y 18hr RUHEtE
AIT
¢ [X]1 (20°C—18hr) [Y] (40°C-—-18hr)
4| 153 144 (ng/&) 1. 00 (mg/g)
X Y # 1.50 1.43 0. 954
1 1. 50 1. 01
4 5 n x=5 x a=1. 48 n y=3 y a=0. 988
# | o x=0.039 z x =10.96 ¢ y=0. 024 Zy =2930
# | <= x)2/ n x=10.952 (Zy) /ny=2.928
AITC 3 Sx=2x2—-(2x)./nx Sy=2y2—A(2Y)_, /ny
=0. 0074 ' =0. 0018
3 - : — :
X Y Al TC 30
2

RETENTION TIME (MIN)

T

f
0 4
RETENTION TIME (MIN) L

—1

8

Sl (X)(20°C, 18hr) FHE: 1.0wnt/ma

‘SO (Y)(20°C, 18he)
L A7 4 YMC Pack A

B 10t/

—312 ODS(4.6%150m)

#5 4  YMC. Pack A—312 QDS(’4,6*150mm)
HE48 | (CHaCN 60/H 0 40) -

K4 =RI—FHOT YA FF

SERVE S-Sl MR/ u hcd }‘751*

BB UV 24dom’

BEME  (CH,CN 607H 0°40)  #IHE 1 UV 2440m”

M5  =RF—=FHDOT YA I FF
VA Sl XY/ A=k dh i N
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X Y AITC

Y AITC 1
OIR3e Ho :xa =vya ® t HEROHIE & D HE
HHEE (¢) 67T, BRENSIRI1%
OtonitE DEBEITOVTHT » 12,
xa—ya=0.492
Sx—Sy=0. 0092 t (6,0. 05) =2.45<to=17.2

¢=nx+ny—2=256
1/nx+1/ny=0. 533
t0=0.492 / ( v (0.0092/6) XV 0.533)=117.2

t (6,0. 01) =3.71>to=17.2

WAIRSHo xa =yald, BHXIh 3,

Y
0DS
HPLC
100
0 05mg g
18hr 20 18hr
30
32 836 1985
2 510
3 85 1974

HPLC
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